def factorial(n):
    if n == 0:
        return 1
    else:
        recurse= factorial(n-1)
        result = n * recurse
    return result
# test code:
result = factorial(3)
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def factorial(n):
    if n == 0:
        return 1
    else:
        recurse= factorial(n-1)
        result = n * recurse
    return result
# test code:
result = factorial(3) # eventually, it goes back to the main script, 
				# where the function is called, and 
				# at last, result = 6

